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1.
Introduction
In this discussion paper, we present our view regarding V2X service differentiation in UE-AS layer.
2.
 
Discussion
In UE and network, V2X service differentiation is required to perform V2X operation (e.g., resource request/allocation).

Observation 1: V2X service differentiation is required in UE and network. 

In [1], L2 destination address collision issue was raised. [1] argued the network (scheduler) cannot differentiate V2X services due to the collision and it can cause problem in resource allocation of mode 3.
Observation 2: the problem was raised the network cannot differentiate V2X services due to same L2 destination address for different V2X service. 
In [1], default destination L2 address in Rel-14 and group L2 ID are quoted as examples to cause the collision. We think the L2 destination address collision can be happened in the examples above. Additionally, from our understanding, even for normal case L2 destination address is assigned by mapping V2X service identifier to L2 destination address, L2 destination address collision can be happened because there is no requirement for exclusive L2 destination address per V2X service identifier in [2]. When considering size limitation of L2 address and L2 address for other uses is required (e.g. source L2 address, L2 address for other applications), the exclusive L2 destination address for specific V2X service may not be guaranteed. 

Observation 3: even for normal case L2 destination address is assigned by mapping V2X service identifier to L2 destination address, L2 destination address collision can be happened. 
Observation 4: there is no 3GPP requirement for exclusive L2 destination address per V2X service (e.g., one-to-one mapping).
In [1], it was assumed the UE-AS layer can differentiate V2X service. If we assume UE-AS layer differentiate V2X service with combination of (L2 source address, L2 destination address, PPPP), L2 source address is assigned by V2X layer but it is most likely that an UE uses one L2 source address for all V2X services. Moreover, different V2X services can has same PPPP value. Thus, L2 source address and PPPP cannot be criteria to differentiate V2X service.

Observation 5: if exclusive L2 destination address per V2X service identifier (e.g., one-to-one mapping) is not supported, based on current requirements, UE-AS layer cannot differentiate V2X service. 

Thus, RAN2 need to send LS to SA2 to inform that V2X service differentiation is required and ask the following question:

Q1. Whether or not exclusive L2 destination address per V2X service can be supported?

Q2. If question 1 is no, could SA2 provide the way for AS layer to differentiate V2X service?

Proposal 1: RAN2 need to send LS to SA2 to inform that V2X service differentiation is required and ask the following question: 

Q1. Whether or not exclusive L2 destination address per V2X service (e.g., one-to-one mapping) can be supported?

Q2. If answer for Q1 is ‘no’, could SA2 provide the way for AS layer to differentiate V2X service? 
3.

Conclusion
In this discussion paper we have presented our views regarding V2X service differentiation in UE-AS layer.
Observation 1: V2X service differentiation is required in UE and network. 

Observation 2: the problem was raised the network cannot differentiate V2X services due to same L2 destination address for different V2X service. 
Observation 3: even for normal case L2 destination address is assigned by mapping V2X service identifier to L2 destination address, L2 destination address collision can be happened. 

Observation 4: there is no 3GPP requirement for exclusive L2 destination address per V2X service (e.g., one-to-one mapping).

Observation 5: if exclusive L2 destination address per V2X service identifier (e.g., one-to-one mapping) is not supported, UE-AS layer cannot differentiate V2X service. 

Proposal 1: RAN2 need to send LS to SA2 to inform that V2X service differentiation is required and ask the following question: 

Q1. Whether or not exclusive L2 destination address per V2X service (e.g., one-to-one mapping) can be supported?
Q2. If answer for Q1 is ‘no’, could SA2 provide the way for AS layer to differentiate V2X service? 
4.
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